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1)
2)
3)
4)

1- Which of the following conditions is considered as absolutely instability?

ELR less than DALR
ELR greater than DALR
ELR greater than SALR
ELR less than SALR

2- What is the amount of diffuse and direct solar radiation on a 40 degree north slope compared to a
40 degree south slope?

1) In both directions, the amount of diffuse radiation is the same and the direct radiation is different.
2) In both directions, the amount of diffuse radiation is different and the direct radiation is the same.
3) In both directions, the amount of diffuse radiation and direct radiation is different.

4) In both directions, the amount of diffuse radiation and direct radiation is the same.

3- What is the main reason for the formation of the monsoon circulation in Southeast Asia?
1) ITCZ displacement

2) STHP displacement

3) STJ displacement

4) Westerlies displacement

4- Why do parts of the eastern Atlantic Ocean near Morocco and the coasts of the Persian Gulf and
the Sea of Oman are arid regions despite having humidity?

1) The presence of strong currents to transport moisture
2) The presence of surface elevations
3) The absence of convective instability

4) The dominance of subtropical high-pressure

5- Jet streams are mainly formed in which layer of the atmosphere?
1) Mesosphere

2) Middle levels of the troposphere

3) Lower levels of the stratosphere

4) Middle levels of the stratosphere
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6- In an adiabatic system, where does the needed energy come from for an air parcel expansion?

1) Sensible heat
2) Internal energy of the air parcel
3) Conduction of heat from the surroundings

4) Latent heat of vaporization

7- The continued rise of air after condensation is accompanied by a decrease in temperature, due

1) clouds absorb water vapor
2) terrestrial radiation is absorbed by the cloud
3) latent energy of evaporation is released into the air

4) the greenhouse effect of the atmosphere is intensified

&- What is the difference between the effect of the Coriolis and the Friction Force on the wind?

1) Both affect speed and direction
2) The former affects speed and the latter affects direction
3) The former affects direction and speed and the latter affects direction and speed

4) The former affects direction and speed and the latter affects direction only.

9- In which of the following situations does evaporation decrease?
1) Increasing water salinity 2) Increasing wind speed
3) Increasing air temperature 4) Increasing air aridity

10- Increased concentrations of which atmospheric compounds are harmful in the lower levels of

the atmosphere and beneficial in the upper levels?

1) Ozone 2) Water vapor  3) Carbon dioxide 4) Oxygen

11- In which of the geographical regions, the temperature of the tropopause is higher than other
regions?

1) Poles 2) Equator  3) Subtropical lands  4) Subtropical oceans
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12- Which of the atmospheric layers is of significant importance in establishing radio
communications?

1) Thermosphere  2) Stratosphere  3) Exosphere  4) Magnetosphere

13- Which fog is formed under temperature inversion conditions?

1) Radiation fog ~ 2) Mixed fog 3) Frontal fog  4) Mountain fog

14- In which region does the height of the permanent snow line reach its maximum?

1) Equator  2) Subtropical 3) Tropical 4) High latitudes

15- What is the most important factor in the formation of ocean currents?
1) Differences in the specific gravity of water

2) Air flow in the lower layer of the atmosphere

3) Unevenness of the ocean floor and shores

4) Changes in the Earth's position relative to the sun

16- In which of the following zones is the annual temperature fluctuation extreme?

1) Monsoon 2) Arctic 3) Tropical 4) Temperate

17- Which option does the definition refer to?

"In this type of scattering, the size of the particles is much smaller than the wavelength of
the solar radiation."

1) Selective scattering 2) non-selective scattering

3) Rayleigh scattering 4) Mie scattering

18- what is the name of the strong and extensive thermal anticyclone which forms in cold season
of the year

in the Northern Hemisphere in the vast lands of Asia?
1) Aleutian anticyclone
2) Pakistani anticyclone
3) Azores anticyclone

4) Siberian anticyclone
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19- In a synoptic weather station, the recorded temperature at 8§ am was minus 5 and the
temperature recorded at 10 am was minus 3 degrees Celsius.

Determine how the rate of evaporation changed during these hours?
1) Evaporation was the same in both hours.
2) No evaporation occurred in either of these hours.
3) With a two-degree increase in air temperature, evaporation also gradually increased.

4) With an increase in air temperature, evaporation at 10 am decreased by about 5 percent
compared to 8 am.

20- In which regions of the globe, the convection is more effective in causing precipitation than
other regions?
1) The rout path of extratropical cyclones
2) The west of the continents in the extratropical regions

3) The Southeast Asian monsoon 4) The tropical convergence zone

21. What is the highest power that recognizes no other power?
1) Government

2) Sovereignty

3) Government

4) Army

22. Which of the following countries is a member of the United Nations?
1) Vatican

2) Taiwan

3) Liechtenstein

4) Kosovo

23. Which type of political unit is different from others in terms of how it is politically governed?
1) Neutral zone

2) Condominium

3) Free port

4) Artificial islands

24. After World War I1, what were the trustee countries that did not gain their independence called?
1) Madate 2) Protectorate lands  3) Colonial countries  4) Territories under guardianship
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25.

1)
2)
3)
4)

26.

1)
2)
3)
4)

27.

1)
2)
3)
4)

28.

1)
2)
3)
4)

29.

1)
2)
3)
4)

30.

1)
2)
3)
4)

31.

1)
2)
3)
4)

Which option is not part of the common government?
Andorra

New Zealand
Caroline Islands
Tokelau

Which country was not divided under the process of separation?
Germany

Sudan

Vietnam

Korea

What major event changed the geopolitical map of the world in 1918?
The Charter of the League of Nations

Congress of Vienna

Versailles Peace Treaty

Collapse of the Ottoman Empire

Which country's reason d'étre is different from others?
India

Ireland

Libya

Bangladesh

Which of the methods of territorial development is not practical today and has only historical and
legal significance?

Discovery

Assignment

Time travel

Occupation

What is the forced transfer of part of the sovereignty of one state to another?
Assignment

Rent

legal easement

Studying law

What is meant by the Core Area of Country?
Historical region of a country

.The area that is most efficient

The central region of a country

.The region where the country's capital is located
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32.

1)
2)
3)
4)

33.

1)
2)
3)
4)

34.

1)
2)
3)
4)

35.

1)
2)
3)
4)

36.

1)
2)
3)
4)

37.

1))
2)
3)
4)

38.

1)
2)
3)
4)

Which country is different from other countries in terms of its land shape?
Malawi

Norway

Gambia

Congo

What is exclav?

UIslands located within coastal waters

.A country located within another country

.A part of a country that is surrounded by another country

.A part of a country that extends into another country in a narrow strip

What is the name of the geographical position that is measured by proximity or distance from
something?

Absolute position

Relative position

Geopolitical situation

Geographical location

Which countries are militarily weaker than others?
Long countries

Island countries

Landlocked countries

Coastal countries

Which country is not an unequal multinational country?
Ecuador

Malaysia

Indonesia

Belgium

What type of government should have only one political core?
Local government

Unitary government

Federal government

Regional government

What type of border line is the border between Canada and Alaska?
Adaptive boundaries

Imposed borders

Pre-settlement borders

Abandoned borders
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1)
2)
3)
4)

40.

1)
2)
3)
4)
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. What type of border dispute is the dispute between India and Pakistan over Kashmir?
Disagreement over border management
Dispute over territory
Disputes over the exact location of the border

Dispute over the use of shared waters

Inland waters

contiguous zone

Exclusive economic zone

Territorial sea

What is the first maritime zone of each country called after the baseline?
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61- Which item is correct about the creation of large cities and megacities?
1) Increase in economic rent and decrease in spatial friction
2) Decrease in economic rent and increase in spatial friction
3) Decrease in economic rent and decrease in spatial friction

4) Increase in economic rent and increase in spatial friction

62- Based on the spatial perspective, the behavioral cycle related to the system of activities creates
which of the following patterns?

1) Ecological pattern
2) Land use pattern
3) Economic pattern

4) Behavioral pattern

63- In the urban ecological concentric zones, in which zone do the proletariat live?
1) Fourth Area
2) Second Area
3) Third Area

4) First Area
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64- What factors are effective in disrupting the geometric order of the urban ecological concentric

zones?
1) Social and economic developments
2) terrain relief and climate change
3) terrain relief and transportation routes

4) Displacement and replacement of social classes

65- Which of the following urban growth patterns are created by the heterogeneity and incoherence
in the distribution of specialized activities?

1) Sectoral Model growth pattern
2) Sprawling growth pattern
3) Concentric Zones growth pattern

4) Multiple nuclear growth pattern

66- Which theory is a product of the combination of concentric circles and sector construction

patterns?
1) Ullman's theory
2) Peterman's theory
3) Peter Haggett's theory
4) Harold Mayor’s theory

67- The chain dependency of metropolises leads to the emergence of which phenomenon?
1) The emergence of urban sprawl
2) The emergence of megalopolises
3) The emergence of multi-nuclear cities

4) The emergence of the primate cities

68- Which area of the city center selectively deals with developments of activities?

1) Repulse zone  2) Transition zone 3) Attraction zone 4) Central zone
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69- Which use usually occupies the majority of the city's surface area?
1) Work and activity zone
2) Commercial zone
3) Service zone

4) Residential zone

70- According to M. R. Rose's theory, what form does the settlement of religious and racial
minorities in the city take?

1) Enclosed and isolated form
2) Spotted and discrete form
3) Linear area along transportation axes

4) Circular, sectoral or axial form
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